
De�nition 1 Given an �nancial economy with production E =
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�
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�
2 RJ+1 is the extended portfolio vector and

Wy =

26664
�q0 �q1 � � � �qJ

p (1) y (1) + V1�
0 V11 � � � V1J

...
...

. . .
...

p (T ) y (T ) + VT �
0 VT1 � � � VTJ

37775
is the production extended marketed space: the marketed space extended with the
dividends of the asset generated by the production plan y of the �rm.
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De�nition 2 Given an economy E = ((X i; ui; ei; �i) ; Y ) aWalras equilibrium
is a tuppel (�x; �y; �p) 2 RIn � RLn � Rn such that

1. (a) �p � �xi = �p � ei + �i�p � �yl, and ui (�xi) � ui (xi) for every xi such that
�p � xi = �p � ei + �i�p � �yl

(b) �p � �yl � p � yl for every yl 2 Y
(c)
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Given demand correspondance
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we have that an equilibrium when
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Produktions mulighedsområde

Y =
�
y 2 R3jy0 + y1 + y2 � 0 ^ y0 � 0 ^ y1; y2 � 0

	
Finansielle aktiver og initial beholdninger

Asset Init. end.
1 2 ea eb

0 2 2
1 1 0 2 0
2 0 1 0 2

Nyttefunktioner
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Radner ligevægt med y =
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